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Seciion A : {40 X 2 marks)

Fill in the correct answers in the boxes provided.

1. Write

28 in words.

2. 35

52 78 64

The g

reatest number is




3. Which two boxes have the same answer?

Colour them.

40+ 10

70 - 30

30 + 30

90 - 40

4. Arrange the numbers in order, beginning with the greatest.

16

62

greatest

9. Use the numbers below to fill in the boxes.

40

23

38

26

is 1T more than 39.

is less than 38 but greater than 24.




5. 8tensand 9ones =

7. + 59 = 100

8. Thesum of 2 numbersis 15.

If the first number is 1 more than the second number,
what is the first number?

The first number is

Q. 1 am reading a book.
Iread 12 pages on Monday, 10 pages on Tuesday
and 11 pages on Wednesday.

How many pages have | read in 3 days?

I have read pages in 3 days.




3 groups of 3 make

11.  Show 4 groups of 3.

Draw @ in the box to Show your answer.

Circle each group.




12.  Ring sets of 3 balloons.

There are | sels of balloons.

13.  Write a multiplication sentence for the following picture.




14, Complete the number pattern.

25, 30, 35, 40, .| , 50

15, Look at the number pattern below and fill in the missing

number.
3 6 9
] 2 3 5

16._1f@@x 17,




17. 2groupsof4 = 2 x =
18. 12 = 4 + 4 +

19. 3 x 10 = 10 + 10 +
20. There are 3 stars in each circle.

If 2 more stars are placed in each circle,
now many stars are there altogether now?

There are

stars altogether now.




21.
4 for 3

With $2, 1 can get strawberries.

22. An ice-cream costs 50 cents.
Paul buys 2 ice-creams.

If he has $2, how much money does he have left?

50 ¢

He has $ left,




23. Sally had 2 five-dollar notes.

She spent $6 on burgers.
How much money did she have left?
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She had $ left.

24. Ring the pencils that are between the 2nd and the 6th
pencils.




25. Baby Penguin is standing in a line with her friends.

She is 2nd from the right and 4th from the left.

How many penguins are there in the line?

Baby Penguin

There are penguins in the line.

26. Write the correct time shown on the clock.

The time is

10



27. Colourthe clock that shoWs hdlf past 9.

28. Colourthe clock that shows 3 o'clock.

11



Look at the pictures and answer questions 29 and 30.

Write "heavier than', 'lighter than’ or ‘as heavy as' in the boxes
provided,

bowl

29. The bowlis the cup.

30. The cupis the jug.

12



31.

The mass of the basket of bread is about

32. Cross out [ X ) the things that do not have the shape of a
rectangle.

(0

TEN s
DOLLARS ¥ -

Dictionary

13



33. Which shape comes next in the pattern? Colour it.

AONOAON|C

14



Look at the diagram carefully and answer questions 34 and 35.

eraser

|
|

1 unit

pencil

34. The pencilis units longer than the eraser.

35.  The total length of the eraser and the pencil is

|
|

a Units.

15



This picture graph shows the children’s favourite shapes.

Answer questions 36 to 40 using the picture graph.
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36.

37.

38.

39.

40.

triangle.

The most popular shape is the

The least popular shape is the

There are

children like the rectangle.

more children like the heart than the

children altogether.

17



section B (5 x 4 marks)

Do these story sums. Show your working clearly. Marks will be

given for correct working shown.

41, Shawn collected 70 stfamps.

Patrick collected 11 fewer stamps than Shawn.

How many stamps did Patrick collect?

O

Patrick collected stamps.

42. There are 24 men, 48 women and 19 children at the

musical concert. How many people are there at the

musical concert altogether?

o o[-

There are _{ people at the musical concert

altogether.

18



43.  Arooster has 2 legs.
Farmer Ben has 9 roosters.

How many legs do 9 roosters have altogether?

O | =

? roosters have legs altogether.

19



44. There are 6 pieces of chocolates in g box.
Mother buys 4 boxes.

(@) How many pieces 6f chocolates are there altogether?

O

There are pieces of chocolates altogether.

(b) If Bob eats 8 pieces of the chocolates, how many

pieces of chocolates are left?

Q -

pieces of chocolates are left.

20



45. Mrs Tan baked 20 cupcakes.
She gave the cupcakes to 5 pupils equally.

~ Circle the number of cupcakes each pupil wouid get.

Each pupil would get . cupcakes.

End of Paper
Please check your paper carefully.
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